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A3 :
Instructions :
1. ITINT IRYATHEAH TG a@an+ |
I FW-Yawr 7 & forg |
Write answers in the answer-sheet only.
2; GHATE T FEHGRIT Gegaa d@AanT |
9@l G 7 &, dg g IV F IW G@a ¥ & fag |
Answer all questions in Sanskrit unless instructions are given
otherwise.

T F¥HY7 F@RT GUST Tl |

§F Jv7-y7 § A% @ § |

There are four sections in this question paper.

quer % YfaArer — el (STUfSArer — 3faaie) 15 378
SECTION A (Unseen Reading Comprehension)

Qs @ e ARG, (H5%d § e aad) 15 18T
SECTION B (Writing Skills in Sanskrit) .
Tquer T qfSaier — Sfaary Shauieas iaas

(UfSTTTT - 3TEale" Td i Sifeca-uRad) 40+10=50 37T

SECTION C (Reading Comprehension and Introduction
to History of Sanskrit Literature)

Tuer g BASAGHT: (B TH IHAZR) 20 37T
SECTION D (Metres and Figures of Speech)
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@uer & (SECTION A)
. .‘ = -
~ 3rufedrer — JrEated
Unseen Reading Comprehension 15 33T

eifafgay sTT=oegd Ufewl YeaM J¥AM H&had I
eifdafad Sl ITsal & Tea AU T WAl & IW TEhd § W
Read the following two passages and answer the given questions in
Sanskrit :

(%) wgwr IgWer
UHel U 9HE @ 3ufavy ysmrin meefa w1 e HY G I
T ST | HHTE, ShieH 3TN — 379 shwaw 27 Hare ST une feeren
3ged — ‘AR WHE |7 Far U8 3ded — Sivlawyrl T w9
T, Wy eEfd 27 W seRq. —  “fF gevReuwer swegd wHR
wfaqy s@fd 2 wEe g amwr famw wafs 17 afeiar W dRafe
TEAr 39 |
qyATE
(37) TFGH IWA |
T T § W G |
Answer in one word. 19-1
(1)  THSE T 3 & 0 2
(i) TG 9reEr dfssidr &7 379aq. ?
@) olEaeRE I |
ot g § I T |
Answer in a complete sentence. 2x1=2
HHIE Higer wafd ?
() ey IRa |
e IW T |
Answer as directed. -;-x4=2
() ‘w3 R Sgue fee ? .
(i) Per 3 o= fawred fay 2
(i) ‘TvEn 3 weH fF fodmye o W, 2
(v) ‘go@Eq 3 9 f& gem vgwy ?

3 P.T.O.
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(@)

dffRiGE I™ TeY FRRIIU Fdf< | T TR 3T Sgaan = | aE
Tafer W e RE favfaaeenfue wenft @fe | giiter amE weE
HERAT FIf-<TaHT 39 T | Haes-ani] au St aies oW &= | 3T
a1 s affeems @ wafd | o ame frafgsr s
FEdRERET R | W RN A% ST 99 vaf df ae fawe wevds —
| T B i R s | i o R e A IR E e B

LESIE

(31)

()

(®)

()

THYeT IO |
T ¥ ¥ W RNT |

Answer in one word.
() o afg s=mEr S vafa qer 9gT &% yevdd ?

(i) STy Hfa qe=— &= ?

UiareR 3T |
oof e § 3w G |

Answer in a complete sentence.

Tl I ferfar s & a2

e ITA |
I IW T |

Answer as directed.

i) ‘wEdfa 3fa fFames wUTe Ry ?

() gE 3o e fF gewa ggeR ?

(iil) ‘STeTwEn 3 Tew f faenmae o W ?
(v) ‘wHeer 3 wew faesd fy 2

T ST Fd I Wi W ferad |

T IFee & I 39ge s @ # fafey |

Write a suitable title for this passage in Sanskrit.

4

Ix2=2

2)(1:2

Ix4=4
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@ugr @ (SECTION B)
o' +
UFd § S o
Writing Skills in Sanskrit 15 37gT
TSI Sfaddgar, TR Teifafad wal R o
o ¥ 3fud wgd o frefafed s @ @ R fafew -
Complete and rewrite the following story, with the help of the words

given in the box below : Ix10=10
Eﬁ_ﬂl

T TEH, Tares: @R (1) I e foRe
W | HyEd afe faa S 3Gi) IS — ‘Y HE WWE
IV (i) T wEd 27 g8 T A (i)
AT S9Eq | W S [ I HEeE (v) ST, |
Y= T (vi) JaeHq — e | T AU HUAT S
(vii) " g | gEaEr (vidd) I e — ‘W g |
ferer stgeeq — “or o g (ix) T | FE W YT 2 g
e — ‘o WY A T (x) ue |7 Efd

HoSHT

T, wieE, frfew, o, @8, Tgafy, e, Sfavie, TETE, S |

T S faar  agda gomew 3 fawm sfige uew aef Hhd
forga |

T ¥ TS YA aga Fomed v W dwpd § uie g fafeu |

Write five sentences in Sanskrit describing ‘Vasudhaiva Kutumbakam’
with the help of the words given in the box below. I%h=b

bl

ICYENT:, §d 5+, @refedr, 3¢ w6 3fa wEEa EgEr, 3o, favaer
AT, SfeH, I dMGH, QY IUCEH, WIEH, T Iq |

5 P.T.O.



@us: T (SECTION C)
gfSareT — MEEA Ud Uihd Hifged- U=y
Reading Comprehension and Introduction
to History of Sanskrit Literature 40+10=50 33gT-

sfafad T, gd, ARAN 9 ufsEn Yeauvar §5had S
frafafad T, geie a9 FRINT S Tew U T yve & W Iwd § 4

Read the following prose, poetry and drama passages and answer the
given questions in Sanskrit :

(F)
“Sfer T e SevEd-<uiEar TR e g3 ydasviewduk Twfd w1
QICageIlT VMY eeTeST  feudoad:  Fukelds  qUIHATETEEI

A-HIFH-TeoHa  Wefg-go  Srsiidaeie-suld-THEre:  $isfy
foraeicer favaraunt faggnlq aei wmEE drRog T a1

T
(37) THIRHA ITA |
TH I § I AN |
Answer in one word. §><2= 9

(i)  gar & vEaguar IR Tesfd W 2
(i) = favamumy dogl sfa wfa ?
@ qufEERE A |
gof g § I T
Answer in a complete sentence. Ix2=2
foradite favarauny AR o7 sl ?
(W) e SR |
Faifady W AT |
Answer as directed. §x4=2
i) sfa & 3 ravew sgue e ?
() w3 e R faamTer g ?
(i) ‘e 3 v f waiaey o wgw ?
(iv) ‘T O I ....... 3 T T 3 A &
T ?



49

(@)

(m

bk

“ferafe ermeTed e,
ey aruedr gy faser |
Tufy =fiefaeted gt
vgfafasiae fe wereram 11”7

AT
(31)

()

(%)

(frEgege) T & dae e yomTEte |
SFEA SR — HEAO | ST AT |
Figear — R S
S —
SET RSty & gftr 1
7

THTSH I |

T I § IW AN |

Answer in one word.

(i) WA 7 aeeCa Yevdd 2
(i) WA =S $F aad 2
quiareRE 3 |

Tl q § SR AT

Answer in a complete sentence.
et & f& gefafas swefa ?
A IWA |

FAAEY W WY |

Answer as directed.

i) R zd 5 gerd wgwq ?

Gi) ‘Hufe 3 vewm & facmoen wgwy ?

(i) Vg fFHerEYey ?

(iv) ‘3¢ WU FE HY9EE YT,

1,9-1

oxig=2

1.1-
§X4 —2

‘T — (fava, w@ry) sfawcadr wHifc SEEN g

Femfarefas ? (fafem) s faesyaR 3fd ge=r oo |

e a@ | dEqs Tl (Sera) fizE 3 seed

BTl



5.

49

(37) UFHYH WA |
& T § SR AN |
Answer in one word. Loo-1
2
(i)  3T&udl %9 I8y TN ?
(i) 3799 NUTHYEC 3 FAd ?
@ YUEERE I |
i g § IR AT
Answer in a complete sentence. Pd =2

ST A IR TRl % agfd ?

(W) F=faden 3 |
Iy W ST |
Answer as directed. %x4=2
1) sy 3 ¥ fF g g ?
(i) ‘g 3fa vew f& faamueHT wqwq ?
(i) TR ¥ O . 3 A W3 A w6 g, 2
(iv) ey 3 gEAfERRE R ey 2

vegrae Hafger faed |
= gl ¥ o =& fafew |
Match the words with their meanings and rewrite the same. -é—x4=2
(1) rfa (i) TR
(@) EEE (i) s
(@) F=gEm (iii) T F=A
() ol (iv) 3T

Wifgd W& & YR W yvE-fAaior sifSg

Frame questions on the basis of the underlined words : Ix4=4
() 9 f& wdfae eRfaay g Siq fefseg sife |

(i) PR ! T SEAEE 79 T ffead R

(i) e fe wAR fawf soewromE |

(iv) == Mdgedl WHIHRETH |
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seifafgaagar: RFeamyfd AesEIeEeEaal $%d
frafafaa AT wamdl § wes # U U vedl &t Terar § fmeaml @ gfd S
Fill in the blanks in the following two explanations with the help of the

words given in the box : 3+3=6
(37) d{rqc\;qlgfcﬁaql B HEEERIE
3 wym O A TfgEEER 1
fagi: (1) I (i) 9 A ®ed
e (did) I (iv) | F=qer fomm g (v)
wafq sfaen = sifasare: | €4r 90 (vi) g 9afg |
(F) TR Jeweddd S |
 JOmvi FEd AsweqEdd |
BT AT (i) A A (i) ST
(iii) | T Iq ST S (iv) ameyl He
(v) Faf< | 3T IAHIA HIAMT TF (vi) | |

kg U

SR, oA, fawmn, aca, fr, Sufewt, $af<, 30,

= ~ .
qe, AT, ey, Hasan |

STelifafadar yeltearr o Rmeamyfa $od

frfafaa S v & 37aal § e gfd #iNT
Fill in the blanks in the following prose-order-renderings of the two
verses :

(37

b
T FAUSHAREHA |
fey S gusHe,

I GHRIRE S |l

CiRkE
sufer Afrarem = (1) TR AL S (i)
¥ IR e O i) e

1 5 £
I§+IE—3

P.1.2O:
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1+1=2

1+1=2

1+1=2

(@) IufSam foam @ wa e won |
TTHICTHEM qaTg garmram |
HT:
TR (1) T{EE 39 (ii)
(iii) Tg & we |
g ST |
Y W AT |
Answer as directed.
(31) FHgwe fRaaE 9 foa |
&l T fRaee gAT |
Select the subject and the verb.
(i) Uh T Igay] &Ed deeand |
(i) | AR | T A ST G |
@  foomomg foga |
forgiooT 98 g |
Select the adjective.
(1)  WrEgdE g9 9 wat< |
i) yfEm 9@ e |
(W) erifafadifhed Tafgd-wdamuefa S s 2
frefafea < dfedl # twifed 984 9 e fow wgw gu € 2
In the following two lines for whom are the underlined pronouns
used ?
(i) S g, AR ARl AT a1 s A |
(i) W I A, § Sifoqafrera gaear, |
() IfafEadfe= SR’ ad1 ‘G 3fd gear gedeTe famn foaa -

frafafed Wil § §  Waar qa @W ¥ @ % GEEEE I8 g

faf@u -

Select and write the synonyms of ‘simplicity’ and ‘carefully’ from the

following lines :

(i) ifeatha wReasit< say |

(i)  HEfEdr gua~] 9o |

10

1+1=2
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(@)

(31)

C))

(31)

()

& & Hgafq ?
S fRgH 7T W@ 7 ?
Who is saying this to whom ? 1+1=2

() YRS | TJoaiie ¥ &= 1
(i) U g WA 9 Afe wae et faafa aft e swafq 17

Sfafada@s Y FEY TwE FeaE a1 fawd

frefafaa o@s & & we e & W fafey -

Write the name of any one work of each of the following poets : Ix5=5
e, TUSauserTgT, AR, A, Hifeess |

ifafgaEaH EeE T faed

frafafad =Rl & ags & 99 fafau -

Write the names of the authors of the following works : Ix5=5

@uer ¥ (SECTION D)

tﬁ-—cﬁsm
BT UE SN
Metres and Figures of Speech 20 3gTT
YYAH 3T |
T & I ART |
Answer the questions. Ix4=4

() ‘= 3fd W | ag e ?

i) A 3 W & T ?

(iii)  wicRol YfasRifedd 3 By Hfq qui ?

Gv) ‘Frafoll’ sfi s<fy et sfaradt @y 76 a1 ?

SHEfARGIIRANT: o

frafafaa aftamst @ gu ST

Complete the following definitions : Ix3=3

() & wfE |

(i) wafvdEle & wst gaams |
(iii) STfeRETImAr |t T |

11 P.T.Q
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(%)

)

(31)

()

)

sefafaaugsam & st ?
frfafed ife § @-w o< ¢ ?

What is the metre in the following line ?

frsgfe fosg=r of= 9= fog=s ?

FEIeEH B<d: 3¢ foad |

frdt we ®< @1 3w fafa |

Write an example of any one of the following metres.
3EY, IS |

ANARGAA, FAAGROT GRAE T

Complete the definitions of the following figures of speech :

(i) gy 92 |
(i) g HIQ T ITRFEHIEN |
(i) g @9@EH _ YA GO |

(iv) fred: Q@i |

FERHHE g 3R foaq |
et e 3TgR &1 39 fafEw |

Write an example of any one of the following figures of speech.

NI, YA |

FfAfGaufey & FAgRE ?

frefafad dfwdl § #4 F9-9 seEr § 2
What are the figures of speech in the following lines ?

() wfgegfas Yoo =y |
(i) == @fE SRERT e 39

(iii) fooqcHArTT: H&'\ﬂd\iqslwmgqmﬂd |

12

2x1=2

Ix4=4

Ix1=3

Ix3=3
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